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Note: Answerr,qffi, il questions. . r#- 
Marks:100

I a. Solve for the Mesh currents ,rednY 13 using Mesh -# for the circuit given in
Fig.Ql(a). ,o\S e'*f r,

#" nv

ffi l'5==#l-
re l*" qirent"l (08 Marks)

b. Find the equivglenHesistance across t".*6fttu; and'b'forthe circuit given in Fig.Ql(b).
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in Fig.Q1(c).
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Fig.Q2(b)
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a. Verify reciprocity theEefitor the circuit

,# ETffi
.fuI\

b. .r.rffi***r*ffi

,Wi
c. Find the Thevinin's "qriu4h!"ircuit 

acrosJlurrd B t',qil ,{'
\f'qffi roE'v @ Iq"

^. ' Fig.ea(c)
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t for the circuit shown in Fig.Q3(c).

(06 Marks)

(06 Marks)

the circuit shown in Fig.Q4(c).
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3 a. Calculate for'I*' using superposition theorem forCfrlf."it shown in Fig.Q3(a)'

b. Deduce Thevenin's equivalent
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5a.

b.

6a.

7a.
b.

dt' dt2 '

#
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.*.w'
Derive for resonant circuit, the resonant tequeg.6ffi: J(f,fr) where fr and f2 are the two
halfpower frequencies. _W- , (06Marks)
A series r"ronuo"" network consisting of udH$6iof 30Aa capacitor&z an inductor of
20mH is connected across a sinusoidal suBnJWoltaee of 9 volts at alEE&uencies. Calculate
the resonant frequency of the current ffiron*"-., the voltag" uffitr the inductor and

c.

capacitor at resonance the quality zuegna bandwidth of the ciryiecapacltor at resonance the quahty tacryd bandwrdth oI the "lq rg (06 Marks)
,Wb

Determine 
d(0. d2i(t) 

at t = 0.trffi;e switch K is closed%t},F 0 with zero current in the
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t = 0*, solve for the value of

(10 Marks)
switch K open, the switch is

(10 Marks)

(10 Marks)
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closed at-t*= d Determine i, ir, *u;,Wfu /.hotyry ^*k&' ^f;r@"#t@r
,*fu"( $*.

fufl -&

State and prove initial and final value theorem.
Obtain the laplace tra of the periodic signal shown in Fig.Q7(b).
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8a.

9a. The
voltage

Find inverse Laplace transform of the following :f]rs
s2+2s+5 W*

#'2s+4
ii) --t----;' G."'l ,14, 
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For the circuit shown in Fis.a8l!{P6f""ine the

the capacitor. ,*\S- ea

for the

tF Vct*)')

wn in Fie.Q9(a)
the element gi$en, determine th" y- z parameters.

rrr lv'

#ss
SB.

_s

@
@'

18EE32

(10 Marks)

voltage across
b.
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,.., "tr, y in terms of Z parameter.10 a' oo"qffi'*'ro"::#1:T:r-i: 
. o ry _ ^A"^o^ :. ^^-j::-yi::,1; 
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o"ffi"",". ,""0 *,,u#10 ,ro'., ,r&rrrr0o, ZsR :20t-30"e' i' ton,,(3ltTfl:']

" 
*fui wire 500V R)rystle!'m. Determine6:.,to" current and totalpower absorbed.

cY/f ina the transmirffiH*u-eters of t( r€twork shown in Fie.Qld(c).
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